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2. For the vectors sketched in this figure, |A] = 7 and
|B| = 8. Both vectors lie in the z — y plane with an angle

# between their directions.
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b) What is the magnitude and direction of A x BY
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3. A rock is dropped off a cliff, 80 m from its base,

a) Mow long does it Lake to reach the bottom?
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b) What is its speed when it hits?
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e) What is the speed of the rock when it has fallen 40 m?

Lithar K:‘-qn'ﬂ.‘ flad v oo

'-.'1' = '-.-'1_:' + Lo (-‘{‘-".,,j = 0= 2\. 3_ L‘{_xn_\:’

—_ s = |v|] = J e o

!
hd

= =2 (33%)(-4om)

=i

Errmia®  oud
% Pege

v ead 1 the pagg. .

= 75“1.;_*{

lin= 254 cm I m

z = rq+ vol + Lat? v =y +at

m
=381 ft 9=983

v = uﬁ + 2a(x — x0)

2 =zq+ Y vg + )i

L ]



